QUADRATIC TRANSFORMATIONS
PARTNER ACTIVITYS 555>

Name:

Date: Per:

Choose a different column to work on than your partner. Put your answers in the provided box. You should

both receive the same answer.

COLUMN A

COLUMN B

OWho’r is the equation of the function that
would be shifted 3 units down from the
graph of f(x) = x2 + 92

What is the equation of the function that
would be reflected across the x-axis from the
graph of f(x) = -x2 + 62

eWho’r is the equation of the function that

f(x) = 3 x2-102
4

would be shifted 8 units up from the graph of

Is f(x) = 3 x2—2 or f(x)=-2 x2 + 2 narrower?
4

9 How would the graph of the function
g(x) = x2 + 8 be affected if the function were
changed to g(x) = x2 + 22

How would the graph of the function g(x) =
3x?2 + 6 be affected if the function were
changed to g(x) = 3x22

e How do the graphs of the functions
f(x) = x2+ 4 and g(x) = x2 - 4 relate to each
othere

How do the graphs of the functions f(x) =
5x2 + 2 and g(x) = 5x2 - é relate to each
othere

eWho’r is the equation of the function that

graph of f(x) = -5x2 + 42

would be reflected across the x-axis from the

What is the equation of the function that
would be shifted 3 units down from the
graph of f(x) = 5x2 + 72
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COLUMN A

COLUMN R

6 If f(x) = x2is changed to f(x) = -x2 + 6,
describe the fransformation.

If f(x) = 3x2+ 1 is changed to f(x) =-3x2 + 7,
describe the tfransformation.

o If the graph f(x) = -3x2 + 1 is reflected across
the x-axis, write an equation for the new

graph.

What is the equation of the function that
would be shifted 3 units up from the graph of
f(x) = 3x2 — 22

9 If the -5in g(x) = -x2-5is changed to a
positive number, what is the effect on the
graph?

What would the effect on the graph If the -2
in g(x) = 3x2-2is changed to a positive
numberse

9 What is the equation of the function f(x) =
x2 + 8 if the function were shifted 4 units
down and reflected across the x-axis?

What is the equation of the function
f(x) =x2 -5 if the function were reflected
across the x-axis and shifted up 9 units?

@ Is f(x) = %xQ— 4 or f(x)= - %xQ + 4 wider?

If the graph f(x) = %xQ + 1 is reflected across
the x-axis and shifted up 3 units, write an
equation for the new graph.
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